=S
Q Nrasd
oy ]
o517

[2025H 072 12 17A| 2E ]

7|

HH(X|07-24=)

o=zt ENE

> LT|7HE

O (23) SMA7AD, MFsg2 S8l 7120 50| 14kt2 11, APZ2 10km YLICE 25(128)2 MF=HEHol 0l #|Xet Sy
Mgl Jeks ot s2|AEL
O (L) Mzx=EHodol Sddts M7|gel Sgs #ot =2|1 HIZt 2| SL T
ol Z|X/x[217]2 (O ol ZEDHZE2=(0) ol Z=Hmm)
(LH ) 24/26 (L1 27(F2)) (L&) 20~50
> P 7|0
O (B3) 2= WK 5530| uS% 15kt L2, Z|t=7tS< 25kt LiQ|= of7F ZotA 2 2ELICE

O @ A8 FELE) WY QEFH 227X H|7t We|l= 52 Al'E0] 4000m Lie|= ZOrX|Zl1, F+E10& & 1,000ft Li2[=
SAELCh
O (B9 W2 'Fol #=F2 ZHO| of| &E LICE OFXH P Y M= ARGt ThRet 22 MSStL, 71 FH2 AlZHRl 14~174A
of 22t E ZO[AHL XY AlZITHE Z=7g5H7| BIELCE
AlZHE ZHiE o &
ET oo | O BECETHECITE  we=vsea | Goop | weduW | PooR
ar 129 13
17 18 19 20 21 2 23 00 01 02 03 04
M
4
wae | £ < £ £ < < £ £ < < £ £
ors =z =25 == =z =z =25 =24 =z =24 =24 =24 =z
Hrh S H, UE14 3,5 14 7,514 7, Ui 14 H, HE 14 3, 3 14 611 611 H,HE 11 I, 61511 H, 511 i 11
Hoh=E9 ’IEHE%-Q A=E 9 palaE ] Hoh=E9 EIEHE%-Q
()35 E880 E#.80 E80 880 E8.80 E#80 E80 880 E8.80 E#80 B30 Eg80
JGUST =215 &5 k] =405 =] =25 b EE ] E= 3P == V] EENV]
(kt) GUST:25 GUST: 25 GUST: 25 GUST:25 GUST:25 GUST: 25
139
05 06 07 08 09 10 1 12 13 14 15 16
Z2/HE
R < < < € € o O O o v ¢
(07’25’,, 24 24 ZE4 =24 Z£24 ZE4 e £2 =0 £22 %20 £22
=t H, HE 11 =, BB 11 BB 11 I HE1L o HE 11 =, BB 11 3, HE 12 o HE 12 H HE 12 F,HE 12 B, HE 12 H HE 12
BB 380 E580 E880 Z880 Z380 E380 E850 850 Z350 EE50 BE50 BE50
!G(Egr =V E= bl APl V] E= AP 41 APl EEAV] E= V] Er APl APl EEAV]
XE5Z/GHS2 SE 2T 20| it HiEhe 2|o|stn, thel= kY O '53: 4= 530 4kt S 2|0o))
> ZEDIE
O gz




me x x O

ozt
K

4% okl
M > oo
AN

-}
p

>

N h oy o

N
o 19 yn

BEO EHOF 7(HHI f%% 50-3-7

H =1 0]|X|(@amo.kma.goknOjA =
AS M= XNF2SH7| ALK (TEL 064-742- O365/FAX 064-746-1046) 2
)

—|I_E_|_AAI:I




